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No. of Questions : 150

Yt & W& : 150
Time : 2 Hours Full Marks : 450
q9q : 2 902 YUTiE : 450

Instruction :

Frder @ This paper consists of Objective Type Questions and is divided
" into Two Bections (I & II} as under :
7% as-TH ARt HeAr OF oAt B aen & west (1& 1), A
s &, Sten T3 < =il R
(a) Section - I: Consists of 130 Objective Type Questions.
(@) @S - [: ¥ 130 FeRw=E 997 ¥
(b} Section - II : Consists of 20 Objective Type Questions on (I)
English Language and (1) Hindi Language.
(@ wws - I : ¥ 20 sgfreeda A5 (1) offrsfh smer sfe (1) Rl
T & s qY ameia ¥

A candidate is required to attempt as many questions as he/she can
of Section-1, and questions of ANY ONE of the TWO Language papers
(I} English OR ([1) Hindi in Section-II.
et & amfeE T BE @ve-1 et @UE-Il & () st ar (1) e
T I @ SITRRRITEE SHl H OEA Y

Note:(1) Each question carries 3 marks, One mark will be deducted for
each incorrect answer. Zere mark will be awarded for each
unattempted question.

Hﬁiﬁ#ﬁ3ﬁm%l§ﬁﬁ&7ﬂﬁﬁ3ﬁ?%ﬁ?ﬁﬁm
FETT| G SgAiE g9 WAih L S

3 P.T.O.
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(2)

(3}

If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

At wles Fnfeas SO At a9 3 P o &, 4 Pigeey ad
3T

Each question is followed by Four alternative answers (1).(2),(3)
and (4). Only one of these answers is correct, Select the correct
answer and record it against the relevant guestion number by
darkening the circle with Ball point Pen on the Answer Sheet,
as per the guidelines.

TlF N B 9T THRes I6T Yo Y B B (1),(2),(3) 74T (4)
wEdt & watar T R | T & daw oF & 397 96 ) 9 S97 @5y
AT #I T SRE HEA B IO 9¢ qamd®t v B e
ﬁwﬁaﬁim]ﬂwmhmmm
ToiEd | |



SECTION-I
Ers-1

_ Which of the following does not comprise the "period of Darsanas' in
india ?

{1} Nyaya (2) Charvaka
(3} Sankhva (4) Vedanta
Ferefafere 3 AT-ET Wd ¥ axt e @ e e R 7
(1) = (2) @
(3) e | (4) A=l

. Indian philosophical tradition insisted on :
(1) Samasya (2) Samasya and Praygjana
(3) Prayojana (4] None of these 1, 2, 3
st e ToaT d ...l O 9 AR
(1) wHE (2) aFEr AR ghe
(3) ST @ 1,2 3% # 7

. Which of the following is not a purusartha ?
(1} Dharma : (2) Moeksha
(3) Kama (4] Sewa
sl ¥ P O geud T8 ¥ 7
(1) ud {2) HIH
(3) =HH (4) @=

. According to Varnashrama dharma there are ......... divisions :
guiterT o & STTAX ..oene AT &
(1y 4 (2) 2 3 3 (4) S

5 P.T.O.
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05,

06.

07.

Constant dwelling upon the nature of the true self is called ..............

(1) Vairagya (2] Nishkama Karma

{3) Dhyana (4] Moksha

T T 1 Wi T TTT SR B ... Fed € |
(1) &g (2) Frepm

3) =™ (4) =y

According to ashramdharama in Indian tradition there are ........
ashrams,

ARAE 909 H STHA"H B ATER .. HIHH B B )
(1) 5 2) 4 (3) 3 4 2

The traditions related to relationship and behaviours of members under

different institutions of society are .........., ... traditions :
(1) Cultural {2] Social
(3) Phtlosophical {4) Psychological
HH1ST & A= G@enAl @ o geddl & d9uf oF seaerr J
Hefere st ... ORPIOC e o
(1) Hitplas (2) "SR
(3) =1eifeR (4) FEEEITEE
Which of the following is a social institution ?
(1] School (2) University
(3) Marriage (4) Vama
ad & FHF uF Al denm § 7
(1) FrEm= @) Freafueg
(3 Fare (4 ot

6
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'‘Anomie’ is the state of ........

(1) Normlessness {2} Apathy

(3} Alienation (4) Attachment
Re 1121 LN FH g B

(1) AFTREBE 2y FErEEEr
(3) ST (4) =«

10. The initiation into education in Vedic India was performed through a

11.

ceremony called :

{1) Upanayana (2) Upasampada

(3) Upasana (4) Utsav

N wreg T oMo B ......... SEER AT ST AL
(1 99 (2) JI9EET

(3) JUrEAT (4] 3G9

Pabbajja is the education initiation ceremony related to ...
educaton .

(1) Jain - (2) Buddhist
(3) Vedic (4) Muslim
TEHAT vvnnnnnnraes re & HefEd R oI HEhT B
(1) & 21 W
(3) 3e®w | (4) gReH
12. The word used for knowledge in Kuraﬁ L=
(1} Ilm (2) lgra
{3) lIslam (4) Bismillah

7 ' P.T.O.
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13.

14.

15,

BT H 5 & o .. = gdeT R e R
(1) R {2} gH

(3) TTAH (4) fafRHEE

Who lounded Gurukul Kangsi ?

(1) Swami Vivekannad " (2] Tagore

(3) Swami Shradhanand (4] Swami Davanand
TEH BT FH wraEr e it 7

(1) w@rdl Ad=wm—= (2) FMT

(3) @Ml SErTE (4) =\ T

Who has said that, ‘the end of all knowledge must be building up of
character' ?

(1) Mahatma Gandhi {2} R.N. Tagore

{3) Swam: Vivekannad (4) Mahamana Malviya
FFaa @81 8 6, ‘e o= 9 aitefy afs Pmfo @-f i 2
(1) TeresT ijeft (2) HXoTTo T

(3) @l faawm= (4) AEMEAT HIEEE

Making religion and ethics an integral part of education of the youth
is an aim of which university ?

(1) B.H.U, 2) JN.U

{2) Shanti Niketan (4] LG.N.O.U.

o o Afeerar ot B T B OF A ST s Bee
ﬁaaﬁmﬁm H O %m B 7

(1) ouogo (2) NetFogo

(3) grifer A 4) 9
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16. Dr. Annie Besant was born in the year !

o OH /T H o779 a¥ ........o-. H g1 =

(1) 1837 (2) 1847 (3) 1827 (4} 1857
17. Which of the following was naturalist in choice of education

methads ?

{1) R.N. Tagore (2) 8ri Aurobindo

(3) Swami Vivekanand (4] Swami Dayanand

| Pyt d B9 e ARG eae F aple ar ?

(1) HReTHo M 2y S anfE=

(3) W EEET= (4) TR 9=
18. 'Navya Vedant" is related to ...........

{1} Swami Vivekanand (2) Shankar

(3) Ramanuj (4) Govind

e e oeenn...... T AW E

(1) @ EEesT= 2} 9T

(3) A 4) =ifa=
19. The scientific methods is related to ...

- {1) Pragmatism (2) Idealism

(3) Naturalism (4] Realism

e R .. ] wefeg € -

(1) SE—EE (2) STEeETS

(3) SploraT® 4) FarEEE

9 P.T.O.
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20.

21.

22.

23.

The book 'Democracy and Education' has been written BY o
(1] Johnn Dewey (2) Rousseau

(3) Tagore (4} Plata
é@ﬁ%@ﬁmﬂ%m’ww ............ % gy g
(1) s difa (2) TET

(3) W (4) wieT

Who gave the philosophy of ‘Integral Yoga' ?

(1] Sn Aurobindo (2) Swami Vivekanand

(3] Swami Ramdeva (4) Swami Dayanand
‘T AT TR fRae R ?

(1) =i eRfEean (2) @t fAEEE=

(3) @il e (4 Tl smEe

What is the term for centers of higher learning ?

(1} Maktab (2) Madarsa

(3) Karkhana (4) Durgah

=7 e = & Riw i a7 o B 7

(1) Hwaq {2) #HSTHT

{3) =@ (4) TOME

Multicultural education does not mean
(1] Teaching about deminant culture

(2) Giving equal representation to all the cultural groups in
curriculum and textbooks

(3}  Teaching of students from diverse cultural background in same
class

(4) Use of culture sensitive pedagogy

10



24.

25.
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Tg-arepieres I & arad Fa E § 7
(1} Feegeer Hephy & art d farerer

(2) UeEEH ofT qRE-gws § il giephie g @ afatiie
AT
(3) fafas wisgfas gogm o el & s & wen & g

(4) wieplaes =q § FA=sier fBwer Rfr @& gge

Who has given the concept of cultural lag ?

(1) Kingsley Davis {2) K. Manheim
(3) Ogburn and Nimkoff {4} J. Habermas
wiegtas faea =1 frara By a7

(1) RPas 2R (2) Po ATEM
(3} A ofT Fewis (4) Fo BawH™

Sanskritization is a process ol :

(1) Cultural Social Change

{2) Struetural Social Change P

(3) Micro level (localized) cultural social change
(4) Macro level sacial change

HEGIrHTT T ST §

(1) wiegphas i aREss

(2) HISTHS GEISE grae :

(3) =@ wia (erd) aghe amfas o=
(4) =aoe Tt gftadE

11 P.T.O.
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26. 'Post-Modernity' this term was first used :

(1)} After first world war (2) After second warld war
(3) In 19" century (4} In2i= century
FA-AHAT I A 9EA AT gAT e RRAr ww ?
(1) 729 fasg g= & 9 (2) Tadiw favgy g= & ==
(3) 193F srarsdy # 4) 213 yo=h ¥ |
27. System of division of society into higher and lower social units is
called :
(1) Social organization {2) Social Stratification
{3) Social Institution {4) Social System
AN 1 I AW e amfe saat F e @) wel ¥
(1} \HRAS G (2) wmiSE "R
(3) WERHE (4) G sger
28. Generally education help in getting which kind of social mobility ?
(1] Absolute social mobility (2) Relative social mobility
(3) Neither t nor 2 {4) Downward social mobility

Favesr ErT=eTa fne s W arnfrr afrsfeeT & Werrs & 7
(1} POy aofses afasfterar (2) aier qmmfoes Tiishiear

3) 130T 2 34 T (4) gy waifors nfasfear
29. Social stratification is based on :

(1} Equal status {2) Unequal status

(3) Social Order {4} Social struciure

"o w&TeRToT amenfeg B

(1) w9 2fyag gz (2) AgTH Bfgaa v

(3) EITE =yaeen (4) Mt S

12
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Who hqs written "Modemization of Indian Tradition” ?

(L} M.N. Srinivas (2) Iravati Karve

(3} K.M. Pannikar (4) Yogendra Singh
“HteTAERYE i s IR A e 2 7
(1} THoUHo HifFaE| (2) O &S

(3} HowHo dfFTHT (4) arE e

In India. modern secular education has helped in :

(1) Reinforcing the traditional ties between caste and occupations
(2) Weakening the traditional ties between caste and occupations
(3) Promoting religious education

(4} Promoting indigenous system of education

;ﬁﬁﬂgﬁmﬁﬂgﬁ?ﬁr&ﬂ%ﬁwﬁﬁmﬂmmaﬁ
(‘1) afer &7 Uelf B qqIrTE d@e B ASigd BT

(2) S ST U9 & gIqUNa S99 H B HAT

(3) e famar @ se|r _

(4) 230 BEn s H FEEr 47

"Nursing and teaching are the most suitable carrier options for
women." This assumption exemplifies which of the following approach
to women education :

(1) I[nstrumentalist approach (2) Radical approach
(3] Critical approach (4) Social approach

At Shr sverger AfRarelt 3 @EaH HAT § T8 STEEROT W
e & fpE IUTTH # IR § 7

(1) SYHITERT IIEH (2) HEHa S
(3) FRizepar IUmTy (4} EHITHS IUFH

13 P.T.O.
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33.

34.

35!

Who has written "Pedagogy of Hope" ?

()] Michel Foucault (2] Paule Freire
{3) Deepak Chopra {4) Shiva Kheda
“UErTEl off 2g fra feeEh & 7

(1) st g (2) UT3 B
(3) &TF qge 4) RE a@g

The process by which elements of culture spread from one society to
another, is called :

(1) Socialization {2) Acculturation

(3] Cultural lag (4) Cultural diffusion

BT afb] % | @i aa o qae & 3Et g9 F e ¥
3G TEd &

(1) QRO (2] CEeHsH

(3) wWiEplas e (4) WiEpih qqR

Which of the following statements is true ?

(1] Gender gap in access to schooling is developed country
phenomenon.

(2) Gender gap in access to schoaling is nat a problem of developing
country.

(3) Gender bias in textual material is global phenomenon

(4) Gender bias in textual material is only developing country
phenomenon

e f df-mFar gq & 7
(1) wﬁmﬁwﬁﬁﬂﬁﬁqﬁmﬁm&aﬁﬁm%

(2) TSN 13 H A § et o fmrasier 397 o gy 98 B
(3) 9EH "W § W27 gmive Afegs wew &

(4) WZE v F SeT qafre daa Reemsier 29t # qrr s 2

14
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37.

38.
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“There can be no equality this statement refers to that :
(1) Equality is a essential condition te achieve equity

(2) Equity is a essential condition to achieve equality

(3) There is no possibility of equality and equity

(4} Equuality is an utopian idea

‘geaan & faAr wATEr d@wg e ¥ 59w @ andd ® 1
(1) THFET geodl B ST A H AEIaF 9 96 8

(2) TEIAT WETET B A FIA F EAE I 9 B
(3) HEFET 3T GE A FHYA B Hg FEAEST AL 2

(4) TEFET OF FHEat 2an 2

Under RTE Act 2009, a child has fundamental right to get admission
in:

(1) Any government school

(2] Neighborhood government/aided/private school

(3) Un-aided minority schools

(4) In all the schools

mmmwgﬂzongﬁmwaﬂﬁ@rﬁﬁmqﬁ
I HII AT

(1) feeft =i @l o |

(2) qéﬂ%mﬁxﬁammmﬁ/ﬁaﬂﬁﬁﬁ

(3) IR wEEO OT< EIHETE HE

(4) | T H

Which of the following is not an aim of mid day meal pregram ?
(1} To increase enrolment and attendance of student

(2} To improve the nutritional status of children

(3) To increase pass percentage of students

(4) Providing nutritional support to children of drought-affected
areas during summer vacation.

185 P.T.0.
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39.

= 8§ Pe-ar s 2 0 g o 32 Tl ' 7
(1) Frenffat & s ofiv guftafr & g

(2) FrenfEat $ 9w @ § gur
(3) FenfEt % ofian g & A aftea 7 ghs

(4) T F oAl F e A9 F REnfigt & 9o gemar 29y

Which of the following statements is true ?

(1) The Universal Declaration of Human nghts is a legally binding
instrument

(2) Civil and Political rights were [irst generation of Human Rights

{3) Social, Economic and Cultural rights were first generation of
Human Rights

(4] The international Bill of Human Rights doesn't include civil and
political rights
Frstr & & B-w Fo9 a & 7

{1} WWW@%M%WW%W
EETEeT 8

{2) Waﬁtuﬁﬁﬁmaﬁtﬂrqﬂﬁrﬂ?ﬁ%wm%

{3) WIS, onfder it wivphes it geaht 9d & wrm
wferepre &

4) AFE AT & SiaUs figs § 9rRw o e
aiftrpy witafer s 2

The main centre of Vedic Education was - .

{1} Takshila (2) Vikramshila
(3} Vallabhi (4) Nalanda

16
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T [rew @ geg P Frafiad § § #9 an
(1) TavfsTEr (2) TaspaigTEy
(3} awerdl (4) wATEST

The Vedas teach us that :

(1) Creation is without beginning

{2) Creation is without an end

{3) Creation is without beginning and without an end
(4] Creation has a definite beginning and also an end

g & R ¥

(1) ghe =y +& &

(2} gite @ S T TE B

@) gite %1 = Hid iy 8 7 MBS AT B

(4) qf&aq;rﬁféaaarﬁt@‘aiﬁ%

42. The meaning of Pabajja ceremony is :

(1) Admission to gurukuis

(2) Thread ceremony

(3) Ceremony to perform vajna

(4) Admission to Buddhist monastery

gere] @RI 1 oY 8 ¢

(1) T&HA 7 maer

(2) JAAGA HEHIT

(3] gE Eutffed F & R Bear sedmen G
(4] #rx AT H waAN

17 P.T.O.
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43. Mudaliar Commission is related to which level of education ?

{1) Primary education (2) Elementary education
(3] Secondary education (4) Higher education
HETiRET SR faren & frm e @ ddfig & 7
{1) grafaes fare (2) S=a urafas e
(3) wTeATHeR [Eran (4) = foram

- 44. Four noble truths frame the basic tenets of philesophy of :
{1} Sankhya (2) Vedant
{3) Jainism (4) Buddhism
= HE g e e B gedd o 7
(1) @i (2) &g
(3) &9 (4) =

45. Maulana Mohammad Ali established Jamia Milia Islamia University

1y
(1) Agra (2) Lucknow (3) Aligarh (4) Delhi

HIEMT qeHa ofell o mitvar faferar geenfeen Rrsafyersg & womaar
feee grew o =

(1) 3T (2) @@TH (3) HTE (4) PR

46. Who was the Chairperson of National Education Commission ?

(1) Dr. R.Kothari {2} Dr. D.S. Kothari

(3) Dr. Radhakrishnan (4] Dr. Madhuri Ben Shah
RUSAE BRE 1 e o TSt S T

(1} 2Bfo HATo H=TH (2) 3Blo fic Tgo FerH
(3) Efo T 4) Sfo ANH &9 ome

18
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47. Which is not a deemed university ?

4B.

49,

50.

(11 Vanasthali Vidyapeeth (2] Gurukulkangri
(3] Gujarat Vidyapeeth (4} Vishwabharati
frer & | F9 wHe () TasafEmaa w8 & 7

(1) el faamie (2} TEHA PITET

(3) TERE faemd= (4) FasEETIER

What is the Title of the report of national Educational Commission ?
(1} Education and National Development

(2) Education and National Integration

(3) Education and National Empowerment

(4) Education and National Modernization

g farem adT & ufadEs @ s = B 7
(1) Famem we Tk g |
(2) farem od T EHTERSA

3) farerr g wsh wafeaEnRer

(4) Faren oo il sygfAeRERT

During Buddhist Education what was the period of higher
education ? ‘55‘"
(1] 14 years (2) 15vears (3] 12 yecars B4y A8 years

e Bnn § S=g fEmn & oy fea=n & 7

(1) 14 (2} 15%d (3) 1299 4) 18ad
What was the nationa! language during Muslim period ?

(1) Sanskrit (2) Persian

(3] Arabic (4) English

1.9 P.T.O.
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51.

52.

B53.

qite™ Fa § sty w4y off v

(1) HEpd (2) BIEET

(3) T (4) SR

When was Wood's Dispatch released ?

gs "IN ON A HAET ?

(1) 1813 (2) 1854 (3) 1835 (4) 1839

Fort William College was established by :

(1) Lord Minto (2) Warren Hastings

{3) Jonanthan Duncan (4) Lord Wellesly

Fre FAfeay Hasr &t = & 6

(1) @ FHE (2) arw 2R

(3) ST SehA {4) e AST=

Which committee first defined the term wastage and stagnation ?
(1) Wood's Dispatch (2) Hartog Committee

(3} Gokhale's Resolution (4) Sargent Commission
e afufer F wuem sqeE g oty @ qRWiRe B ?
(1) g= feelg (2) ®=f1 |

(3) TES g™ (4) | FHTERT

Who was the life Chancellor of Gujrat Vidyapeeth ?

{1) Aurobinde Ghosh (2} Tagore

(3) Mahatma Gandhi (4] Sir Syed Ahmad Khan



55.

57.
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TOd fande & AniET HEgaRy & g 7
(1) omfdE 99 @) v
(3) HEWAT Tl (@) €T A9 Ews @

Who was the first Vice-chancellor of BHU ?
(1} Pt. Madan Mohan Malviya  (2) 8ir Sunderlal
(3} Dr. Radhakrishnan (4) B.R. Ambedakar

Feht g fvafeEnag & ga9 Hedir S 9 P
(1} Yo HEA Hie AT (2) | YA
3} She MUFEH (@) oMo IESHT

Which article of Indian Constitution is related to universalization of
clementary education ?

(1) Article 45 (2) Article 16
(3) Article 47 (4) Article 17

AT GEEm & RE-a Jse Ben § AT § @9t
g

(1) ST=BT 45 (2) STIBE 16

(3) SF[RT 47 (4) STTBT 17
Scrambled Book is the Contribution of

(1) Sydney Pressey {2) Norman Crowder
(3) Maria Montessori (4] Robert Gagne
whides P [HEEH AR 8 ¢

(1) M=+t o€ {2) FHA HIST

(3) AT wEEd (4) e T

21 P.T.O.
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S8.

59,

In Which of the following teaching model, instructional procedure is
the main component ?

{1} Synectics teaching model (2} Basic teaching model
(3} Inductive model (4] Concept Attainment Model

g H ® Fpe e gfeas § dgee aRe e aes R ® 7
(1} Tofream e gtmm@ (2) givad faeer ofme
(3) SANTHATHS A== (4] HUET gEta gfeEe

In order to modiuy the undesirable behaviour of a student the most
effective method is ;

{1} To punish the student
{2} To bring it to the notice of parents

(3] To find out the resons for the undesirable behaviour and provide
remedies

(4) To ignore it
AT H FAANST el B U FI TFY FROR A 2
(1) =t & gom 3=
(2) AIBPTEH B =il et o ga 4
(A) ot ® i =Rl & FROT B G T F YR B 39T

SEIE I
(4) TR ITREr &Y AT

Which of the following statement is not correct ?

(1) Lecture Method can develop reasoning

{2) Lecture Method can develop knowledge

(3) Lecture Method is a one way process

(4} During the lecture method student arc passive
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e # § BF-91 HUA T A6 & 7

(1) =menH By 4 g% ofF @ B emr 8
(2) =rErE Bty § 89 @ R e @

(3) emess Aty oErly afe 8

() @rer At § o e =

Team teaching has the potential ta develop :

(1) Competitive spirit

(2} Co-opration

(3] The habit of supplementing the teaching of each other
{(4) Highlighting the gaps in each other's teaching

wgE B & P e T # @ sAa ©

(1) wieaeieaes [T

(2) HEHIET :

(3) wE gAY & T @ afE & aRgre a9 it 5ghy F A

(4) ™% gEy & faemr S wEEl F OISR BT

The quality of teaching is reflected :

{1} By the attendance of students in the class

(2) By the pass percentage of students

(3) By the quality of questions asked by students

(4] By the duration of silence maintained in the class

fararer @51 oA fRed sl @ 7

(1) =FET # ==l @ IRkl &

(2) T A Gehet s=T $ ufaew

(3} F=T H wEl T 98 T g9l B WY A

4) e § w5 sutkafy & S o wify A ey ET

23 P.T.O.
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63.

64.

65.

A teacher while teaching cites a number of example, finds common
relations among them and arrives at generalizations, She is
following :

{1) Lecture method (2) Inductive method

{3) Deductive method (4) Inductive-deductive method

FEAY FIY T9Y QF AT dga A1l Ia80T 347 8, 39 F amey
o ﬁq%m%wmammwm%lﬁﬁmﬂﬁ

H HATHLT BT B
(1) =areaE Ry (2) STPTHATHE Aty
(3) P Afy (4). SWHATHS-FEHETEE @iy

Which of the following method is more likely to encourage rote
learning ?

(1} Lecture method (2) Demonstration method .
(3) Discussion method (4) Inductive-deductive method

Frefafas o | 5 fafe § 929 § =3 3t waf | Degres e
B Afgw e @A e

(1) =g fafy
(2) Waxt fafy
(3) oftgat or BEr st fafy
{4) AFTHTTIeRER- o fafi

Which of the following is a learner-centered method ?

(1) Lecture method (2) Demonstration method
(3) Project method (4) Group-discussion methaod
Prafefad & & S- RBf ol Sag & 7

(1) =mea= fAafy {2) sasfr fafr

(3) uRtaweTm fafy 4] "9e gt Ry
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15P/246/23(i)

Which of the following is the correct sequence in learning
environment ?

(1} Interest— Attention — Memory
(2] Memorv— Attention —» Interest
(3] Attention - Interest-—sMemory

(4] Memory —slInrerest—» Attention

AFH & araETT & T 8 § HhiF-a1 HH gdt B 7

(1) wfe. e e (2] T 8T &
(3) &M & s8Ry a1 wfe » =R ae
He who enjoys working voluntanly in the class 1s 8

(1) Competitive learner (2] Particpatory icarner
(3) Slow learner (4] Individual learner

%ﬂ;waﬁﬁﬂrahcﬂrﬁﬁmwmaﬁﬁﬂﬁ,wm
(1) wfrErh = 2) HEwFR BE
(3) fser BE @ e @

To enhance the listening capacity in children, teacher should .

{1} Make the students recite {reading in harmony)

{2) Point out mistakes during reading

(3] Make questions for students

(4) Explain the importance of listening

BEl § g9 B aRT & REE ¥ AETE oA § F R
=ife |

(1) B =3 T &7 qe

(2) arEaT & WY G IEH 99 AR Jen et & ste-y fFErer
(3) ®BIET & o gedt & o

(4) I9 B T FH HEW GHAH]

25 P.T.O.
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69.

70'

A teacher can not usc Gestalt theory in which of the following
situations ?

(1} Students of higher classes who are able to perceive abstract
material

{2) Organising the subject mater systematically according to its
structure

(3} Clarifying the purpose before the start of teaching in the class

(4) Helping primary school children in memorising tables

e e & ot ST oA e aRfefy A sl e T B 7
(1) =9 Fa7aTt & BEl B W S Qe aedt @ qegeftestor FT gt
(2) WIS AR F IUF WEN F FGER gty w7

(3) 9IS URY FA  qF Iy T W g & g

(4) srfag wT % wE ®@ O 98 O B |

Regular change in teaching strategies in the class is required :

{1} To reduce the burden level of pupils

{2) To match content and objectives with strategy
{3) Ta match it with ability level of pupils
{4} All of the above

T i R et # Fraba ofteds amEses @ i aw
(1} B % S T T FH FHLar B

(2} ;@qaﬂwaﬁaﬁfﬁ%mﬂmﬁmgﬁﬁﬂﬁﬁﬂﬁﬁm

(3) Rmr gt & o=t & A B SgER a9 &
4 =78 aftH
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15P/246/23(1)

Philip Jackson's analysis of teaching divides teaching into :
(1) Four phases (2) Three phases
(3) Five phases (4) Two phases only

sy S & e aftean & fEedwor 3 Sga faeror & e
geor F qier T B Y

{1) =¥ T (2) @@= =TT

(3) o =or (@) & =T

Which of the following is not emphasized in memory level of
teaching ?

(1) Cramming of the learnt material

(2) " Presenting the subject matter by giving least freedom to pupils
(3] Conducting tests along with teaching

(4) Helping the pupils generalise the acquired knowledge

wfey e o & g9 & feg 97 aw@ 78 "y o ?

(1) WTgH I & @A 9%

(2) 9= gEge # SEl $l a9 EeEa T 39 1)

(3] famror & wrer Aty THAT HFA 9T

(4] € su S $ AETEET # sEl i qeEe 9 9%

The concept of Mathetics was given by :

(1} Thomas F Gilbert {2) B.F. Skinner

(3} T.F. Mager (4) Norman A, Crowder
ATy B AT & gfoaEs & ae F

(1) «my ok e 2} #Houk REFAT

(3) Fous T (4} HTHA T ST

27 : P.T.O..
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74.

75.

76.

.

Which of the following is the best technique of observing and recordimg
behaviour in role playing strategy 2

(1) Manual recording

(2) Electronic recording (videography)
(3] Observation by experts

(4) Electronic recording {audiography)

gﬁmﬂﬁﬁﬁgﬁﬁéﬁwwmmﬁmﬁw%ﬁm:wﬁhﬁm&m#ﬁ

(1) erEfew femtdy |
(2) o e (ffEgmm)
(3) fEsrasit e e

(4) FhEEE R (s

In Flander's interaction analysis pupils talk is given in categorics

g&ﬂﬂﬁﬂmﬁmnwﬁﬁimﬁwﬁﬁwuﬁﬁmimﬁﬁﬁmﬂm
(1} 5&6 2) 7&8 (3] B8&9 (4} 1& 10

Concept Attainment Model was propounded by
(1} Ausubel (2) Dewey
{3) Piapget (4] Bruner

W TR TR B OiadEE e g 8

(1) STga (2} S
(3) o= {4} &AL

Information source — Transmitter (Encoder} —» Channel — Recerver
(Decoder) — Destination is the sequence of componenis of the
Communication Model proposed by :

(1) Shannon Weaver (2) Westley and Maclean
(3) Berlo and Leapan (4} Wilbur Schramm
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UH =g — giaiet (THiET) —» aa— Ee (BPst) -0
og e Ty Afss H 956 % B9 B ¢

1) 9 faw (2) T qur HEiw

EI IS S 4) foreac amy

Which micro teaching skill is not described by Alien and Rayon -
1}  Student Parucipation (2) Question Fluency

(3}  Objective Writing (4) Blackboard skill

%ﬁggmmﬁﬁﬂﬁmﬁwﬁmﬁaﬁmﬁwﬁﬁ

(1) B gewlar T #tee (2) 999 UaTE Sew
i3) SE¥I AEH (4) SAHUZ I

We call a child backward if :

{1j His/her attainment scores lie among the lowest scores oi lus/
her class

{21  He is dull child with a below average intelligence.

(3) He/ she remains in same class for more than one year.

4] His/her attainment falls below the level of his/her naturad
abilities.

el aeres i TISgr 9FF o9 HEl SRT & T

(1) I&aH Ivefal urdin Fan § 98 P g=ast § 8

(2) 38 hEa 8 &% gfe F1 g SwE B

(3) a% @ B =1 H uwh # oftes a9 o @

(4) IO Iu@iE IS @Efas md § g AT e

Huw does an effective teacher make students attentive in class -
1) By punishing naughty children

(2] By making one's teaching interesting

{3} By telling stories

(4] By distributing sweets

29 P.T.Ox
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81.

82.

83.

U QAT e et & sy ot 38 39 wmar 27
(1) st REnfeiat = wom 2 v

(2) o9 TETEOT 1 A BREyET g #57

(3) @eIf¥gi gar #i

{4 Fre=ar Sie &

[n different levels of teaching, problem solving ability develaops at :
(1) Memory level : (2) Understanding level

(3) Reflective Level {4} All levels

?ﬁw?ﬁﬁ#ﬁﬁﬁ%ﬂnﬂmwgﬂﬁmﬁﬁmﬁﬁm
1 g8 :

(1) #fa @& 2) g w¥
{3y R w7 (4) 9 | = F

There are three main duties of a teaching :

(1) Teaching, regulation and direction

(2) Teaching, creating of character and ca-operation
(3] Direction, skilled-practice and regulation

(4] Instruction, direction and training

(1) faemn, Fgas o Adee

(2) fareor, sftm Fwior e aenfa
(3) FEe, Dye oot srvmg aer Prems
(4) A2, P den gfdre

The research method that helps in professional development of teacher
is :

(1) Basic Research {2} Applied Research

{3) Action Research (4] Phenomenological Research

30
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85.
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ge gne faitr o fSremnt & sggaifas e & 9= 29 & ¢

(1) TErege < {2) FIHERTEE $iY
(3) Frares sy (4) BTHATATOTRT 90

A conjectural staement about the relaticnship between two or more
variablle id defiend as :

(1} Research Problem {2) Hypothesis
{3) Research Questicn {4) Problem Statement

3 AT 3§ i T 5y gEgl & fOug § age 9wifag sy

P FFN FEA B
(1) Sie &TEaT (2) IREEIET

(3) ST oS (4] T FHIF

A researcher aims to investigate the meaning that student assign to -
learning of mathematic in the classrcom. Which research methods is
most appropriate ?

(1) Case study research (2) Action research
(3) Swystematic research (4) Phenomenological Resea:ci.

frenfeiEt o oew war-Fw A AfteTe & ord @ U iyt
STeAET HIAT AT 8| R g H1 oY 39 IdYy oY wEifus

J9gFT B 7

(1) ®& Hegad (2) TR oy

(3) =EfRerE sy (4) DA
Which is the most stable measure of central tendecny ?

(1) Median (2) Mode

(3) Mean (4) Percentile

ST & g ngfa o JEs T ATg @ |7 8k 8 ¢
(1) qegieR (2) a&?ﬂ?ﬁ

(3) HEHH CH G EIGIE]

31 P.T.O,
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87. Which level of measurment leads to simple classification only ¥

88

89.

(1) Nominal {2) Ordinal

(3] Interval (4) Ratio

A4 % [hE & ¥ HIA UIHTY FINHOT & HHT &iar & ¢
(1) =fag (2) AT

W) T (4] TR

Which is the positional measure of central tendency ?

(1) Median (2} Mode

(3) Mean {4, Percentile

FEG TR FT FATE HIG F1 q B 7

(lj HegH™ (2] HgSEH

(3) HHHATH (4}  ulcrerdiss

Generaliztion 18 not an aim of the ... ... e research method.
1) Educational Research {2) Applied Research

(3] Fundamental Research {(4) Action Research

= & | fng oy @ e 3Re9 arET=REReT B 99 der § 7
(1) FEfeTE oy (2) STIEFTTE S
(3, +ferER ST (4) FHamTE oy

A Teacher wants to evaluate the level of competency of the students

' in a given domain of knowledge. The test is most appropriate for the

purpose is - '
(1} Placement Testing (2) Normal referenced test

(3] Criterion refereced test (4) Diagnostic Test
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93,

15P/246/23(i)

e famers 9=t REnfEigt & Fgema @Y % e T @ et
fady &= & s At ¥ @ @ o i Bq waitwm gugw
QRO -6 & 7

(1) SEHE qaemr (2) urFER E@aRfE gl

(3} Moy wafda giterr (4) FEFmEE g

Determine the median for the following set of scores : 90, 105, 95,
110, and 100 :

e oTiSt &1 AMeTs s AT (90, 105, 95, 110, ST 100
(1) 100 (2) 95 (3) 110 (4) 105

The measure of central tendecny whose value is not determined by
extreme values is ?

(1) Mean (2) Median
(3) Mode (4) None of these

Farg 9 B Y 719 H 719 STHTHRE 9T § e Tl S
37 |

(1) ¥AEH " (2) A=

(3) «BATE (@) ITOF | & wiE TEt

Given that mean = 100 and SD = 10 what is the z-score for a raw

score of 120

i AIETHE = 100 T A9 {9aq = 10 & o S = 120 &0
2 WT=TeR &Fe=T erm ?
(1] 20 2) 10 (3] 2 4) 1

33 : P.T.0O.
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'*“:34. The mean and standard deviation of two tests are given as below :

a9r.

96,

Test A Test B
Mean 500 60
|D 100 10

A score 300 on Test A willl correspon to what score on Test B

2 gOHol & HegHE U WINTE RAeea e o aae & Ru oo # o

gl &% qieeT &
HegH+ 500 _ 60
AT Q=& 100 10

qHeYT % T gfe qI<ish 300 ¥ OF U SHEE O ginm
7 fRa=T B Y

(1] 42.5 (2] 40 (3) 32.5 (4) 30

The percentage of scores lying between 1 SD and 2 SD on a normal
propbability curve is approximately :

(i) 10% (2] 14% (3) 18% (4) 20%

THEH AT I & | 914h fage= v 2 9199 ey § 06 Sran
e ufger ofF fraa 29 § 7

(1) toufreE  (2) 14ufasm (3) 18ufem (4) 20 uRew

Determine the standard deviation of the following set of raw scores :
10, 12, 15, 13, 20, 14, 15, 14, 18, 13.

Frefafaa sist & 99 e 3 99 frgsr 8o 7
(1 1.72 (2] 2.72 (3) 1.56 (4) 2.56
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Determine the median of following set of score : 90, 105, 95, 100,
110 :

FrfeTiRaT ar=Tisht ® Hediss & 919 fha=T &nn 7
(1) 90 (2) 95 (3) 100 (4) 105

A positively skewed curve implies that :

(1) A majortly of scores will lic towards the middle of the curve
|2) A majortiy of scores will fall towards the right end of the curve
(3) A majortiy of scores will fall towards the left end of the curve
(4) No pattern is seen

T T [H g% 8 98 9 =@ 2
(1) IfrEiyr uTEi Ay # fega @m

(2) SATERIST 9TEi® A% B el I Rew g
(3) AeRieT gT<iE a6 P TG AT Rad Erm
14y g FivEa Baeer gara wd@t g

Detemine the product moment correlation coefficient from following
pair of data set :

X: 8 5 6 2 4

Y: 3,12, 9, 1, 5
Ru s #ewl & 998 $ 9 YOG ST 8Ty F 419 H fr
e |
(1) 0.35 .(2) 0.25 3] 0.30 {4) 0.20

100, Rank Order correlation cofficient was given by :

(1) Michael Scriven (2) Charles Spearman
(3) Fischer (4) William Black
Sofiry FeET=EYy TOTH H Tued FRE B ar ?

(1) #gsHe hids A (2) =red e |
(3] e | (4) RREm =% 9

35 P.T.O.
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101. The square of standard deviation is also known as :

(1) Quartile Deviation (2] Range

(3) Variance {4} None of these

A% = & a9 @t 97 Fed & 7

(1) =gl fEma (2) S\

(3) HEO (@) Sudeed & § g TE

102.Compute the standard deviation for the following set of scores :

16, 15, 14, 11, 18, 12.
Frafofaa ol & e = "=s Reaes ma &

(1) 1.36 (2) 2.36 (3) 1.63 @) 2.63

103. Which is the most approriate measure of central tendency for the
following set of scores 7 7, 19, 12, 18 25 33 74,

(1) Median (2) Mean
(3) Mode (4) All are equally suitable

Frefufae arast # Ro a=m @l & @9 @ 99 gaie
IIgF BRI ? 7, 19, 12, 18, 25, 33, 74.

(1) ¥R (2} HeEHM

(3) dErR (4) @ THFT B9 | SUgE B
104.T = M + 102Z, the value of M in this formula for T score is :

(1 10 (2) S0

(3) 100 (4) The mean of the raw scores
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A-uredis = ATFHA + 10 AS qT<dih 36 A ¥ HAAT e
g ?

(1) 10 (2) S0

(3) 100 (4) HTHEHI FHT AHAN ERT

105, A creative person should have :
(1) High level of intelligence (2) Low level of intelligence
(3) Average level of intelligence (4) No intelligence
T GOTeaE AR B 99 ST =R
(naéﬁrﬂagﬁﬁ (2) s = 8w gfm
3 shaa & gia @) dgha = AE

106. Which statement is true for Creativity ?
(1) Itis Process

(2) Itis Product
(3) It is Ability

(4] It is process, product and ability
HIFT-HT HYT GoRHHaT & o S & P
(1) 9 wp afFr 2

(2) U8 QF IHE ©

(3] 9% OF InTar &

(4) IE W Hfear, I9Ey gd 9T @

107. Which school of psychology emphasizese S-R relatioship ?

(1] Psychcanalysis (2] Cognitivism
(3] Behavicursm (4) Constructivism

37 P.T.O.
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A F B 9T GUS TS % Hee T B 7
(1) FAREEE - {2) dHsmearE
(3) FTEENGR (4) TiaqEE

108. Law of effect was proposed by :

(1} Pavlov (2] Skinner
(3) Hull (4) thorndike
g & Fraw e gfoarféa feram e 7

(1) 9adfta 2) R
(3) =F : (4) UHSEH

109.Who pleaded for individual freedom, Self expression and learning
through experience ?
(1) Rousseau (2} Herbart
(3) Froebel (4} Pestalozzi

forer =i =t Tacan, sTeATHER oRT orw & AT ety &
el F i ?

(1) =t | {2) 'Y=
(3) SHEE (4) QeaATRTSh
110. Francis Galton's famous studies were made on :
(1} Mentally ill people {2] Learning Disabled persons
(3) Inheritance of Genius (4] Distribution of Data

WIS Aees &7 ufies sveqgsr PR 97 Fsay wmap o7 7
(1} #AH{E By & o1 ARt 9¢

{2) AEH e =iyt 9T

(3) ufervmenel =Rl O Raes 9T

(4] HAFSt & fqgeor g7
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111, Whe has fermulated principles governing the stages ¢f human
development 7

(1) Charles W. Elliet (2) Calvin. S. Hall
(3) Stanley Hall (4) C.B. Hall
ﬁmﬁmﬂa%ﬁmﬂaﬁmﬁmmﬁaﬁﬁﬂﬁaﬁnﬁwﬁﬁm
(1) aﬁésﬁgﬁaﬂ-—'ﬁ (2) T °F BT F

(3) = g A 4) e dto Tw A

112. Which is Not True for experimental method ?
(1) Itis the most dependent method
{(2) It may be conducted in the laberatory

(3) It includes comparison of behaviour of control and experimental
groups

(4) The situation of the laboratory does not interfere with normasl
flow of menta! like

gdrmeass fafy & & oar gog Ad 8 7

(1) T% q9@ e fafy 2

(2) & wErTemen & e S wear B

(3) sﬂ%awhﬁaﬁﬁqammﬂqg%waﬁwraﬁ

ST Tl B

(4) mmaﬁuﬁﬁ*ﬁmmﬁaﬁm% TR HTT8 # eeaEy
& Bl

113. Each human call contains :

(1) 22 chromosomes (2) 23 chromoscmes

(3) 46 chromosomes (4) 48 chromosomes

O AT ST H |

(1) 22 HEm B (2) 23 HHATH BIF &

(3) 46 mATAH B B i+ +o HETEE B E
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114. A teacher should use Psychological tests to assess students :
(1) All aspects of psychological functioning
- (2) Intelligence only
(3) Personality only
(4) Socio-economics status only

T STATYSE &P HelENe I8l 1 IuEhT s §

(1) a4 FHEETae feavelt & "aw & B s wfee

(2) Paw gix $ 79T F 6T & R S =g

(3) BHad AR & 999 B R frar s =iy

(4) Faw qrntors onfdes oRReG & e 3 R e s il

115. Who among the following is known as the father of "Behaviourism' 7

(1) William James (2) Edward Tichener
{3] John B. Watson (4) John Deway
=t % A 8 =aerEE & o Fer T &7
(1) Rifemm s (2) usas fr=FT
(3) 9 &t aress (4) S5 R
116. Non-verbal tests can also be called as
(1) Performance Tests (2) Group Tests
(3) Projective Tests (4) Subjective Tests
Hanfesh qferil ) Fw M wHA B
(1) FrgEa qfreror (2) HHE S
(3) saer qereT (4) ST Tetor
117. The most complicated period of development is :
{1} Infancy (2) Teen age
(3) Qld age (4) Young old age
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R & qaq afed &E 8 & -
(1) SrsaEEe (2) Foreiroaemn

(3] gETIER (4) gAFEAET

118. Sheldon proposed three different types of personality. The traits that
would best descrbce a cricket player would be :

{1} Esomorph (2) Endomorph

{3) Ectomorph (4) Activomorph

dv=e 3 &9 v B aafaem sart B Ae-a1 e o6 BT @
Raerdl & =@ afar aofa B0

(1) FHETH (2) =M

(3) TR _ 4) cREEHETG

119, The process of alterring existing schemas in light of new information
or experiences is known as |

(1) Assimilation {2) Equilibration
{3) Adaptation 14). Accommodation
FefA R 3 90 gadl & AR W 9REdE @M e @
(1) cfafEws & T &/ 2) SRafme ® H 4
(3) TETRYH & AW | (4) TFRTH & AN q
120. Which one is a performance test of intelligence :
(1} Wachsler Test (2) CAVD Scale

(3) Terman Group Test (4) Draw-a-man test

a1 P.T.O.
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= 7 @ BF gha w1 Fogee odeer &
(1) F9FT Toero (2) &t. o, d1. 9. giemr
(3) TEE T8 9 (4) ST-T-FT qfero

121. Which one is mot a characteristic of a gifted child ?
(1) Early development of a sense of time
(2) Uneasy relatioships with peers
(3) Easy retention of facts
(4) High intellectual curiosity

e d & B9 giywenelt 5= o oo Tqd R 7
(1) 99 & HAqg9qfe H1 fig Rfwe

(2) P & sT9sd da-e
(3) el T HES IRl

(4) I= WHife F1 e BEmET

122.The learning of a child can be best enbhanced by trial and error
method :

{1} By selg and independent study
(2] By lecture method

(%) By uging audio-videa aids

(4) Lesson based demonstration

%ﬁﬁmﬁwﬁﬁaﬁmﬁaﬁ%mﬁmw
g ¥

(1) & N w@ox sifinm § g
(2) &rea B &

(3) FeOH=g @t S ITENT BT FT
(4) wEEiF 9T amufia o $ am

123.An inborn response to a stimuli is knopwn as : :
(1} Unconditioned reflex (2) Conditioned reflex
{3] Conditioned response (4) Independent response
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U IEMF & UK TF T qfeihar @

(1) - yfead! BRaT &8 A F ST9T SIaT @
(2) - uferadt fpar & 99§ ST AT ®
(3) orafes ufafeer & A & o Smen ®

(4) o= afafrE $ AW | 9 S 8

124.In classical conditioning practicing is

(1) The repetition of thie pairing of the unconditioned and conditioned
stimuli

(2) The repetition of focd
(3) The repetition of the bell

(4) The reoetition of the pairing of the unconditioned and conditioned
respons

srrﬁﬁua@a?ﬂﬁ;ﬁimm: sty
4 Bl i)
(1) aﬂ%ﬂgﬁﬂﬂ STgaEfa IETH 2 T IR TR TE

2) SIS @ AT qT ST HET B
(3) €& @ T X FAT &

&
(4) wﬂ}%ﬂﬁgmaﬁﬁlﬁﬂﬁﬂﬁﬁm M @ AT A T

125. Which lerning theory can alsc be called as instrurnentai learing ?
(1) Classical conditioning (2) Operant Conditioning
(3) Gestalt theory (4) Social learining theory
P & § feg wfimm Igm - O™ SR (Instrumental
learing) HET AT GH

(1) ST ST (2) aftbr SAgEe
(3) Feere RaEra (4) wHTes  orfenm fysr=r

126.What is need ?
(1) Lack of desir.
(2) Lack of motivation
(3) any psycho-physiological deficiency
(4) Lack of desire and metivation both.
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HTIITRT T & 7

(1) SIERIET HF FH

(2) ofesrow =t i

(3) FE i FgeremOfEn

(4) AERIET Ud AFEROT NF H HA

127.What is not true for a adjusted person ?
(1] Emotional maturity
(2} Maturity in thinking
(3] High aspirations
(4) Independent in decision making

e =i 3 Re s g Tl & 7
(1) @|EAFE gftgeaar (2) R # gftgeaer
(3) T STTERTT - (4 Pl & & b

128.What is guidance ?
(1) It is giving direction to a needy person.
(2) Itisimpositions of one person's point of view upon another person

{3} It is making decisions for an individual which he should make
for himself

{4) It is an assistance made available by a qualigfied person to
another person to help him manage his own activites

s Fqr & 7

(1) TF TA&EH= AR S Ry g s o 2

(2) wF AR BT a9 Bert B gat F ST digEr @

(3) @ AR Y o Froly d ¥ N a8 @ & gwar

(4) 9% uH 39 SRR G gEt SR Y 9% 9emeT S e
g e g8 ool waemelt @ @ g9 w9
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129. Whch one is mot learning ?

(1) Blinking of eyes {2) Writing english
(3) Eating Dosa | (4] Coloring
Ay AE ¥ ? '

(1) 9= HAIH (2) I fRrEs
(3) <rar & (4) T A

130. Law of exerciese was given by

(1) Paviov {2) Skinner

(3) Thorndike (4) Kohler
Ay 1 A Ry T g o _

(1) JaeE & M (20 BT 3 @
(3) AFEEE B BT [4) FEAT B &R
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SECTION - II
'OR
ENGLISH

-+

”~

Note. Attempt all the 30 questions in this section if you da not opt for
section-II on Hindi Language Comperhesion.

For alternatives are given as possible answer tc each question. Give
the correct choice as an answer.

Directions : (Que. 131-135) Read the {ollowing passage and answer the
guestions based on it.

Science engenders hope in the future of human achievement. In the
study of literature and art, on the other hand, our attention is
perpetually riveted upon the past; the men of Greece or of the
Renaisance did better than any men do now; the trumphs of former
ages so far from facilitating of fresh triumphs in our own age actually
increase the difficulty of fresh triumphs by rendering originality harder
of attainment, Not only is artistic achievement not cumulativee but it
seems even to depend upon a cratain fresheness and naivete of
impulse and vision which civilization tends to destroy. Hence comes
to those wha have been nourished on the literary and artistic
production of former ages, a certain peevishness and undue
fastidiousness towards the present, from which there seems no sceope
into the deliberate vandalism which ignores tradition and in the search
after origiality achieves only the eccentict. But in such vandalism
there is none of the simiplicity and spontancity out of which great art
Springs ; theroy is still the canker in its core, and insincerity destroys,
The advantages of a merely pretended ignorance.

131. Science generates hope because ths scientist :
(1) Studies human achievment
(2) Does not bother about past achivements
(3) Waorks for the future

(4) Studies natural phenomenon
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132, Originality in literature art is difficult because :
(1) The achivements of the ancients are disproportionately glorified
(2) There are no great poets or artists
(3] Everyane refers back to they past
{4} The artistic achivements of the ancients cannot be surpassed

133, Naivete of impulse means :
{1} Feelings which are innacent (2) Sentiments which are childs
(3} Emotion which are powerful (4] Enspiration which is pure

134.Modern literary and artistic productions are :
(1) Great (2} Eccentric
(3) Traditional (4) Orginal

135. Great art springs from :
(1) Ignoring tradition (2) Pure originality
(3) Actsof vadalism (4) Simplicity and spontancity

Directions : (Que. 136-139) sclect the word similar in meaning tv e
given words :

136. Odious

(1) Disgusting (2) Gleasant

(3} Tolerabale (4) Acceptable
137.Briottlenes

(1) PFrailty (2) Compactness

(3) Coherence (4) Strength
138, Discretion

(1) Rashnesh {2) Recklessness

{3) Prudence 4] Temerity
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139, Skepticism
(1} Belief (2) . Faith
(3] Atheist (4) Unbelieving

Directions : (Q. 140-143) select the word opposite in meaning to the
given words ; -

140. Audacity
(1} Pride {2) Insolence
(3) Modesty 4} Ego
141. Calamiry
(1) Prosperity (2) Distrss
(3} Misfortune (4} Catastrophe
143. Glutfony :
(}) Greed (2) Voracity
(3) Feasting , (4) Hunger
143, Lewd
{1) Chaste {2} Obscene
(3) Indecent (4] Unchaste

Directions : (Que. 144-147) fill in the blanks with the correet option :

144.The doctor said that a small dialy ........................... of the new drug
would soon cure him .
(1) tablet (2} pil
{3) does (4} quantity
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145, The priet adderessed the ........... for more than an hour and was
listened to with rapt attention.
(1) staff (2} congregation
(3] audience (4) crew
146.The autocratic boss ............ even the few who genuinely supported
his policy.
{1) alienated {2) differed from
{3} scolded (4] identified
147.We ponderd deeply ........ the best course of action to be taken.
(1} asto (2] upon
(3) about (4] over

Directions : (Q. 148-150)} from the given option choose the word whick
can be substitued for the given group of words :

14B.A person who can not read or write
(1) Illegible (2) Legible
(3) Literate (4] Hliterate

149.A government by the naobles
(1} Monarchy (2) Democracy

(3) Aristocracy "~ (4) Autocracy

150. That which catches fire quickly :
(1) Incombustible (2) Inflammabie
(3] Invincible {4) Inandible

49 ‘ P.T.O.



15P/246/23(i)

SECTION - II
g - II
OR
FHYT

=t

s afy ot @os-I # B3 3 |mEy @ gt 999 B I
Fd 3 =g, O 39 oS & e IEy | g 99t 20 geAt
B I AT |

frtafE ge=t (1), (2), (3), T (4) F9F & a-a SERaE
Y R 2 B, Rt @ o o & wdt B ol adt gy A g

151. ‘HiHE sia’ 9 ofas &) & o sar 8 7

(1) AFTA (2) Fremafey
(3) TEa<EE (4) THETTATY STHETH

152, FATGN & o fpom gt ¥ 7
(1) 12 2 13 (3) 14 4) 15

153. aIffenr & fave golw, e & fFg & & affg 8 7
(1) o 2y 10 3 7d {4) 8§

154, SEE A H FEFET AEHREIT’ FH MR &l 979 3491 8 7
(1) =T {2) JoTS
(3) == (4) =R
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155. F=ifoiflaa § € g9y gemer S99 w5 999 S
(1) = (2) 9 (3) = 4«

156. ‘59 = & I=Ww & g W G’ - 3§ H Fod § ?

(1) Bga =7 | (2) sfdfga @

(3) " | (4) srdiegT @Y
157, BURTET aSen e ot & S B 7

{1) qf¥erdt fa=} (2) & =

(3) eI R (4) "enRsfg &=
168, I[E == o 999 FHIOT

(1) frT _ (2) Fra

(3) Fr:dm (4) FréeT

159, 9[& 9155 H =F= it

(1) ST - () ST
(3) STRT (4] FHRT
160. ‘T’ 9% % o o @ i wHAred lf 2?7
(1) I9RET (2) IFHa
(3) MREE (4) T
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161. 9 frargor, Adwet &t 6 Rrfway saona €, S€ =0 FES & 7
(1) fordg Rrsreor (2) fagsy
(3} wfasEoY {4) SEeT s

162. WEATERE HEM, AT B g9w § wgewT ot & ?

(1) SFa=T 2y Fa=st

(3) TEAET | (4) F=F=TT
163. ‘T @1 Wer fydwor =g Fw ¥ 7

(1) &9 2) &

(3) VIfTIRE (4} EFToTefier
164, ‘IwT H " G wafa #ifm -

(1) oFTT (2) STFRT

{3) gy (4) IR
165, ‘O & WEl @Y BY FT & 7

(1) I {2] HATS

(3) Tof (4} FHETA F TH FEAT

166. ‘T57Ed i goea 91 &Y - aEm Al o7 uF 9 99 g SR
(1) 9T (2) st
CIREE TR {(4) STgiT
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167. ‘Hawia’ ¥ SHF-T1 Ivest ggad 3 7
(1) ot (2) o
(3} AT (4) FF

168. ‘FEAET ¥ Pr-HT AN ogwRT ¥ ?

{1) =gefe (2) IS

(3) ST (4) FEY
169, ‘FETT w e Hiu-Fredy wr ¥ ?

(1) gg+aT (2) FIHIT

(3) F+TX | (4) SR[+AT

170, ‘Ge%’ 9= g o ot &
(1) =i (2) gfesty
(3) AGEHAT (4) Iware
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ROUGH WORK
T T
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ROUGH WORK
& &
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10.

11.

12,
13.
4.

FeafiEl & ferm fdm
(7w G & THw AT g 4T Fay I9-0F & gl 9
Faer feh- wret arr-omye 47 # o e}
se fer e % 10 B & st & 3 & 1% weew it g e ¥ ok
WY T TE-21 Qe A T T TSR T dee wa-ee e gl
TeTT i g qRAE T &1 o
T wa # e vw pdw-uw & anfe, R 91 S &8 gen S 9
¥ A @l
FNT-OF ST 7 fawr mar 1 y@ 1 @ F Al T me w0 IR 39T- oo 8T ey
FaeT IUT- 9 7§ s R A
YT SR AU ST-UA H HHiIG ¥R HE0-TS W T ¥ i we v e
IwT- O & Nuw g 9T 07 ¥ SN FqwEw ety wr ar e’ mar 9 G gt wl
T wT &1 ogl- gt swAvas N a¥ OV QR &7 W AW §E w7 v Jww
T fored

o Yo MTo WY T JFTHWE TEW, VYA SO T BT HOW (T WY §) T
DPAYRAET U7 I FR Fo QHo Ao UT WHAT W1 wfaAtiel ¥ gufiviery & sy
it

¥ gt & WY o oftaAT w4 OFE T Ry gl anidd ey wy % Syt
WIGT W W= WD W

o77- IRET ¥ 1w v & wv dwietew 3T 7R it §) mew v & dwfw 3 & fog
STy} SwT-o% & gty gfey & g i g & F9v-0% & 09w ye o A R
Y & smparr dv @ T s

A% N9 % I & 0 30 UF B g9 i ME w TF F s g6 e w1
T 3gE] Uh J9 H A W | T I T A TR

w7 ¥ o5 gar wre vt gry Jww Ivv agew 7w www W sw fedt e wr anr
7 3 ang? & of Awfinr ofEy & aee AR R Wt gail s et oty 81 0 o o g
s Rl we

W Fd & o ava-gfRm & ey & sig o 99 qgy Se-gfem & sifiw g
& FEGHT Hi |

w{ieN & IO Faer o UW v IwT-O¥ ghen waw F oy gK ¥

Tl WA B € TEE T WaA & W 9 W IRt T8 e

afE Fitd sperdf wien ¥ argfaa aAt w1 w9 S @, = favafaee gttt
ﬁgaﬂfﬁ, "IT'ﬁ'gFTTfE:T‘ﬁI



